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¢ OS Problem 5.28
e Problem 5.28a)
e Problem 5.28b)
¢ Problem 5.28c)

OS Problem 5.28

clc
close all
clear

Problem 5.28a)

S X
(1 - exp(§*pi/3)*x)* (l-exp (-J*pi/3)*x)* (1+ 1.1765%x)
(1 - 0.9 * exp(j*pi/3)*x)*(1-0.9%exp (-j*pi/3)*x)* (1+ 0.85%x)

Hiié

S
Y
X

It

expand (Y)
expand (X)

>

Y =

(1-(1/2+1/2%1*3~(1/2) ) *x)* (1-(1/2~-1/2*%i*3~ (1/2)) *x)}* (1+2353/2000*x%)

X =

(1-(9/20+49/20*1*37(1/2) ) *x)* (1-(9/20-8/20%1*3~(1/2) ) *x)* (1+17/20*x)

Y =

1+353/2000*x-353/2000*x"2+2353/2000*x"3

X =

1-1/20*x+9/200*x"~2+1377/2000*x"3

Problem 5.28b)

zeros = [exp{j*pi/3) exp(-j*pi/3).--1.1765]."
poles = [0.9%exp(j*pi/3) 0.9*exp(-j*pi/3) -.85]."

figure
zplane (zeros,poles)

2eros =

0.5000 + 0.86601
0.5000 - 0.86601
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Homework 10 Problem 4

clear

close all

clc

a = [.99 exp(j*pi/4) .99%%exp(-j*pi/4)].";
b = exp(j*pi/4.*%[0 2 3 4 5 6]).";

a num = poly(a)

b num = poly (b)

zplane (b, a)
figure
freqz(b,a)

a_num =

1.0000 -1.4001 0.9801

b num =
Columns 1 through 4
1.0000 1.4142 - 0.00001 1.0000 - 0.00001 0.0000 - 0.00001
Columns 5 through 7

-1.0000 + 0.0000i -1.4142 + 0.0000i -1.0000 + 0.00001
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20f2

Imaginary Part

Magnitude {dB)
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